3aKoHbl noruku. Mpasuna npeobpa3oBaHUA IOrMUYECKUX BbipaXKeHWUiA

3aKOH ana W Odna WA
[IBOMHOIO OTPULLAHNA A <A
UCKNIOYEHUA TPETbero A-A=0 A+ A=-1
UCKNIOYEHUA KOHCTaHT A-1=A; A-0=0 A+0=A; A+1=1
NOBTOPEHMUA A-A=A A+A=A
MOrNOLEeHUA A-(A+B)=A A+A-B=A
NepemMecTUTENbHbIN A-B=B-A A+B=B+A

coyeTaTesibHbIN

A-(B-C)=(A-B)-C

A+B+C)=(A+B)+C

pacnpenennTenbHbIi

A+B-C=(A+B)-(A+C)

A-B+C)=A-B+A-C

ae MopraHa

A-B=A+B

A+B=A:B

3apaHus:

1) AA-BV—AA-B VAN (~BV-AV()
2) (AA-BVC) A (~AVAA (~BV~C))

3) ~ (- (- (AV~B) "A) VB)




